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Performance Parameters
HR Th=25C Th=50C
Vmax (V) 3.56 3.71
Imax (A) 2.83 2.81
ATmax (C) 67 71
AC Resistance (ohms) 1.053 ~ 1.287 1.31
Qmax (W) 5.89 6.41
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Performance Curves Th=25°C (FEEE)

Vsl Qcvs |
4 8
—AT=0"C —— AT=0°C
— ATE — ATE10T C
——AT=20"C — AT =20 C
3__—AT=3U“C 6_—AT=3O“C
- AT=40° C —— AT =40° C
s —— AT=50°C . —— AT=50° C
" - AT=60° C s -AT=60° C
= %)
£ 2 & 4
2]
>

1 — '/’ ; =~ i // /

by

0 0
0 1 2 3 0 1 2 3
Current (A) Current (A)
Qh vs | COPvs |
16 5.5
——sli=lHG Par —— AT=0°C
5.0 :
14 4——AT=10°C / \ —— AT=10°C
——AT=20°C // 4.5 / \ AT=20°C
12 4—— AT=30°C /// 4.0 / \ —2¥=jgg
—— AT=40°C =wils
35 _ e
10— aT=50°" ¢ / / \ AT=50° C
——AT=60°C // 3.0 / /\ —— AT=60°C
25

Qh (W)
N
NN
N

21NN

\ // 15

) = e
/ ' —

0.0

Current (A) Current (A

F20, H3W fRAAQ 2022/11/12


Administrator




ILOSAM ELECTRONICS Co.,Ltd

BEIRDI I bl R RSER AR T E H E23HE1304 5 BLRHE: 18666427974
[Tl SPGB A0 b el £ ) 3k b 1548

Performance Curves Th=50°C (FEEE)
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